A & 0l & A

20179 = =34 3 &l JIEtSEAH ™ (&)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
S Al 37,490,801 37,500,727 A9,926 20.03%
ALY 36,426,419 36,439,349 A 12,930 A0.04%
HWegs 158,596 165,388 3,208 2.06%
A =2S 905,786 905,990 N 204 A0.02%
g}FES 30,581,578 30,594,500 N12,922 A0.04%
ot - =2 27,681,854 27,694,776 N12,922 A 0.05%
=22 H 27,544,744 27,557,666 N12,922 A0.05%
St=C2el (=ML ELEIA) 18,944,360 18,957,282 N 12,922 A 0.07%
=HZel(=ZEHNLEEE5H) 785,325 785,325 0 0.00%
St=3ZHelAE AIMS(EMNLESEIA) 1,971,690 1,971,690 0 0.00%
ARAESRY 2 (=EHMESESIAH) 382,541 382,541 0 0.00%
Hegade (4T AMdSESIH) 5,460,828 5,460,828 0 0.00%
HWeegs(e3aA4n) 137,110 137,110 0 0.00%
BHENE(EMNEELSIH) 137,110 137,110 0 0.00%
HOI2 2,899,724 2,899,724 0 0.00%
HIl2 I8 XMel 2,899,724 2,899,724 0 0.00%
EUHS> L EaMel(EMLOSESA) 2,899,724 2,899,724 0 0.00%
tal = X 368,073 364,873 3,200 0.88%
IZdE2d 346,587 346,595 A8 0.00%
NASS dgod X2 346,587 346,595 A8 0.00%
=0 (Ud=E2ssSYsH) 346,587 346,595 A8 0.00%
HAAEXNH 21,486 18,278 3,208 17.55%
Heags(Fasx4) 21,486 18,278 3,208 17.55%
ASESEEIHEMNE(ARESELESH) 21,486 18,278 3,208 17.55%
g ol &F 4= &t 4,635,364 4,635,364 0 0.00%
sg--sE 4,635,364 4,635,364 0 0.00%
sg g+ 4,635,364 4,635,364 0 0.00%
SELSMNY FE(SHEASHLIIZELES 4,635,364 4,635,364 0 0.00%
A
EXR SN 1,000,000 1,000,000 0 0.00%
A EX 1,000,000 1,000,000 0 0.00%
s3I =4 & 24 1,000,000 1,000,000 0 0.00%
s3HA ELUS(s3ARLIAZLEELES 1,000,000 1,000,000 0 0.00%
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